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2lss	events	yields	comparison
>=2jets,	no	b	jets	region

Main	difference	:Wjets(0,16.8),	ttbar(145.7,14.28),	Zjets(0,6.01),Vgamma(2.4,0.88).
Will	check	the	input	samples	,	weight	calculations	and	selections



A	cutflow of	ttbar sample

Plan	to	run	with	new	samples

144.57



H->Sh study	
1)BSM	production	with	ATLAS	binning	and	CMS	binning

2) SM	components	of	the	fits	are	taken	directly	from	the	published	experimental	distributions

ATLAS																																																																								CMS

only	one	degree	of	freedom	beta_g^2	
~normalisation of	the	BSM	signal~H cross	section	



Fitting	procedure	

Fit	with	a	Quadratic	function

Minimum:18.26
“Numerical” solution
Draw	a	graph	respect	to	beta_g^2	by	step	0.4

ATLAS	H->yy



CMS	H->ZZ

Minimum:	0.15



Turn	to	2D	fit

Make	SM	float:							0<\alpha<1

Get	it	minimum	value?


